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4 83,455 86,106 100.0 2,062 1,850/ 100.0 902 851 100.0 1,160 999 100.0 34.6
I % & 10,137 10,536| 12.2 607 561  30.3 - - 0.0 607 561  56.2 34.5
wooo R 73,318 75,571  87.8 1,455 1,290  69.7 902 851 100.0 553 438  43.8 34.6
R [ 12,571 13,296  15.4 59 51 2.8 3 3 0.4 56 48 4.8 38.9
[ 73 4,444 4,502 5.2 40 34 1.8 20 18 2.1 20 16 1.6 39.2
BY B - AL 19,086 19,615 22.8 503 469 25.4 390 382  44.9 113 87 8.7 34.3
w s 7,292 7,457 8.7 70 55 3.0 37 25 2.9 33 30 3.0 32.5
i = 4,548 4,709 5.5 34 31 1.7 22 22 2.6 12 9 0.9 34.4
Hh 4,334 4,456 5.2 34 29 1.6 15 15 1.8 19 14 1.4 34.6
Py 4,016 4,058 4.7 112 103 5.6 101 93  10.9 11 9 0.9 33.8
Ju JH 16,227 16,601 19.3 595 506/  27.4 307 283  33.3 288 223 22.3 31.2
[EZ R | 6,942 7,089 8.2 376 336/ 18.2 238 227 26.7 137 109  10.9 25.6
i i 800 877 1.0 9 11 0.6 6 9 1.1 2 2 0.2 39.5
# 2,804 2,759 3.2 15 12 0.6 - - — 15 12 1.2 40.0
O 1,641 1,810 2.1 7 4 0.2 - - — 6 3 0.3 43.1
Flfwm B 1,851 2,021 2.3 19 19 1.0 1 1 0.1 18 18 1.8 42.9
/S 4,097 4,281 5.0 203 2100 11.4 174 188 22.1 29 22 2.2 33.6
B =X 1,967 2,012 2.3 24 17 0.9 12 9 1.1 12 8 0.8 36.9
+ I 4,009 4,153 4.8 209 186 10.1 185 167  19.6 24 19 1.9 32.7
£ ¥ 2,268 2,277 2.6 12 11 0.6 1 1 0.1 11 10 1.0 32.2
PE | #F I 2,119 2,114 2.5 43 33 1.8 20 11 1.3 23 22 2.2 33.2
= 2,948 3,075 3.6 14 12 0.6 10 9 1.1 4 3 0.3 30.3
w5 1,004 1,054 1.2 76 73 3.9 73 71 8.3 2 2 0.2 28.6
=% 1,272 1,230 1.4 9 7 0.4 4 3 0.4 5 4 0.4 41.1
A 958 969 1.1 18 13 0.7 16 12 1.4 2 1 0.1 31.7
Bl & g 1,421 1,422 1.7 131 99 5.4 7 5 0.6 124 94 9.4 28.5
B R 3,113 3,245 3.8 59 43 2.3 45 32 3.8 14 11 1.1 34.9
O 2,874 3,036 3.5 76 76 4.1 66 68 8.0 10 8 0.8 25.8
R 4,069 4,054 4.7 300 2600 14.1 172 159|  18.7 127 100/  10.0 25.6
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